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Points to Ponder
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THE EIGHTH PEREK OF YEVAMOS IS DEDICATED:
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1. On the words of the Gemara N'2 ND'TY NIINV2 NNV, Rashi brings a Mishna in
NININN in which 'NNW N2 and 9910 N2 argue about Terumah NNNOL which fell into
NIINL NNINN. The reason for 'RNW N' is because the pool of people who can eat
NNINN is smaller than for |'2IN. How does "W compare it to our case which is |'21N?

2. Gemara discusses a case where a NNINN NXRD and a NNO of |'21N fell into 2 large
containers, one of them |'21N and the second NNINN and we don’'t know which fell into
which. The XN'2 says that we assume that the NnINN fell into NNINN and the |'21N
into |'21N. According to [1NI' 21 there is no need for there to be more |'21N than
NNINN. How about if there is less |'21N than NNINN? Would he still maintain that we say
I'210 fell into |*31n and NN fell into NNINN?

3. When 'wN 21 suggested that our case is a D'1'NN 19 W'W 127 the Gemara said that
this is a NNIT2 (can't be), because for a |ND to eat it we don't need 71012 at all. Why can
we use 10" so that the |ND can eat it without worrying about the restrictions on
eating D'WTP? (Only in certain areas, and only N1NL2).

4. Further to the above, the D"2NN writes that YNN on NDD is D'NN 19 W' 12T
because we can eat it after NOD, Why isn't he concerned with the same argument, that
YNN was never a question after NDY, similar to the |ND never being prohibited from
eating D'WTP?



5. Rashi explains that the case of the NIpN is regarding fruit juice and other liquids
which are 9109 in a NIPN. The next Rashi 12N 1"NWIT IND 'RN N7, says that the 5109
N2'NY is |1217. Since the issue here is because these liquids themselves are not kosher
in a NIPN and their 210D is NN"MINT, why does W1 mention D'2INY?

If you have any comments or suggestions please email me at

Ygrunhaus@gmail.com
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